50, will be treated as malpractice.

, compulsorily draw diagonal cross lines on the remaining blank pages.
, appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification,

Important Note : 1. On completing your answers

1SEC654

07 Marks)
b. X‘system with channel pulse trains.
(05 Marks)
c.
(04 Marks)
a. Draw a neaf dlagram of four-wire circuit ‘and explain its working. (07 Marks)
b. Explain qbneﬂy the different network structures used in Telecommunication network.
g% , (05 Marks)
c. Writea short note on European: Pleswchronous d1g1ta1 hlerarchy (04 Marks)

a. Briefly explain message’
between them. (07 Marks)
b.  What are the different, functlons of sw1tch1ng system? Explam brleﬂy (05 Marks)

c. Explain the Cross: bar system with matnx of cross points. (04 Marks)
~ ~ JORr p
a. Withthe help of neat dxagram, explaln the Intra LM call and Inter LM call processing.
&3 y (08 Marks)
b. Wlthfneat dlagram explam the functlon of Basic Central Office Linkages. (05 Marks)
C. & (03 Marks)

(07 Marks)
b- Define grading. Explam different; types of gradmg (04 Marks)

J,.

(1) the outgomg trafﬁc () Incommg traffic (iit) Total traffic. 05 Marks)
./ OR
a. Designa gradlng for connectmg 20 trunks to switches having 10 outlets. (06 Marks)
b. Give the compariSon between single stage and multistage networks. (06 Marks)
c. Define the followmg (i) Holding time (ii) Congestion (iii) GOS  (iv) Busy hour.

(04 Marks)
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Module-4
With neat diagram, explain the space switch. (06 Marks)
Briefly explain the Digital Sw1tch1ng System soﬁware cla, sification. (06 Marks)

A T-S-T network has 20 mcomlng and 20 oht 0 ng PCM hlghway, each conveys

(04 Marks)

(08 Marks)
With the help of feature flow dlagram, explam feature actlvatlon, feature operation and
feature deactivation. (08 Marks)

i (04 Marks)
Explain the common characteristics of D1g1ta1 Switching System. (06 Marks)
Write the¢Ana1ys1s Report of digital sw1tchmg system. (06 Marks)

20f2




